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Introduction to algebra - VWWorksheet |

If the value of a = 2, b = 3 and ¢ = 4, evaluate the following:

a’ = 4 2. ab® = 54
3. 2a’c = 32 4. Sa? + 65> = 74
3a*
5 a +c = 20 6 — = 3
5 3 2
7 c® _ 512 s, 6a +j4b _21
ab’ 27 2¢* 8
Introduction to algebra - VWWorksheet 2

Simplify the following where appropriate:

1. 3x +4x° —2X + X0 = X+ 4%+ X 2. 5a° —2a’ + 6a = 3a’ + 6a
3. 3a +4b —3c = 3a+ 4b — 3¢ 4. 4a + 3a’ —2a° =a’ +4da
5. 2b% —4b” + 2b> =0 6. 4ab + 2ba — 5ba = ab

7. 3xy + Syx — 2xy° = — 2xy + 8yx 8. 7abc — 3bca + Sbac = 9abc
9. 4ab — 2a’b + 2ab? = 4ab — 2a’b + 2ab?

Law of indices - Worksheet |

Simplify the fellowing:

S
1. x? x x* = x° 2. a’ x x® = a’x®

3 2 -1 -3 -4 -7
3. P x p=p 4. vy ox =y

R _ 2 _

S. a’ x a’ x a¥ =a° 6. p?x - xp4=p]

> 3 _ 2 - - .
7. x? x x7 x x* x x? =x 8. a? x a* x a? x a°> =a”
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Simplify the following:

1. 9x° =+ 3x? =3x> 2. 8x? + 2x° =4x®
3. y"j’ x )f2 = y3 =y’8 4. x? x x? = x7 =x72
5. (x)? = x° 6. (ys)s — yIS

7. 2a*)? =16a'? 8. By H? =0.111y*



